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It is written: nas>" — 2505 Nasn

OVERVIEW

The X113 explained that the reason the P05 states 2ann %Y n2317 XM instead of &M
nawr (even though seemingly both words are of equal length and we should
therefore choose a 1Pl NWY) is because in actuality the P05 writes n237 (without a
1""1) which is shorter than nawy (which is spelled with a 1"7). mooin asks [and
answers] the obvious question (already discussed by °"w9) that just as n239 is
written without a V""", so too NAY° can be written without a 1".

*

mooIn asks:
— NAY? ) 2IN3Y 9NN ON)

And if you will say; the P05 could write naw» without a 1™, which will make it a 1w
7?1 and the same length as N237. Why did the 770 write n227 (since whenever it is >777 7 we
use the P31 W9)?

n90IN answers:
— NYYTY NN 179 XD Y9 AN5T XN DT NAW ANMY 81 XYY PNYY 13929 909IN)

And the 3'"9 says that the P05 could not write naws, for wherever the p10o

writes 2w without a """ it comes to teach us a w97 -
: (3 nwan 12 wuNa) VIV 1919 B0 IMN 011D AyWa AW VI 192W9T15

As we interpret the 2105 of 2170 ywa Zau (and ©Y» (sat) [was sitting] in the

gate of 2172) to mean that on that day they appointed him a judge. There is no
7wA7 for 2w here, therefore the 7105 could not have written mw».?

SUMMARY
A "om in the word 2w requires a 7w77. The 2105 could not have written Naw° for we
have no 17wA7 to explain the 70m.

THINKING IT OVER
Does MooIN accept, or not accept "0 in this matter?’

'R0 (R7M) mwRMA.

2 It should have been written 2wy (sitting) in the present tense [as is the *p]; instead it is written 2" (sat) in the past tense.
? It would seem from npoIN that there is no indication that when 237 is written 7on that there must be a wT;
therefore the 105 chose the 1% 177 and wrote n2>7 (even though there is no 7w17). See, however, ¥ 11°271 NMdOIN
and the w"&"7 nvon. See “Thinking it over’.

# >y~ maintains that the 701 of N137 teaches us to use a 7IXp W5 even though it is a 7 PWH.

5 See (-mxn) R"wI D"wn.
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